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Question 1;
Solution:
n-5=0
» Jx = 5 {Trarsposny - 5 1o RHS)
5

s M 5

CHECK - By substituting =§ in thie given equation, we get -

LHS:E[E }-5-5-5=+:r
RS = 0

Question 2!

Solution:

Bx-3=9-2x

cBRe2n=9+] {By transposition)

210k =12

axy & B

10 5

EHEEH:HM::EnhMmm.ng
o] 8] 48

ws:gg] 3 3 3 =

RHS:9—32 —ﬁl—g_E—H_
5| 5 12

-.LH3=RHS

Question 3:

Saluthon:

T—ou=5-7x

~ & T 8§ T (By transposition)

— . 4—

—=—=1
2
Thus, x = -1 is a solution 1o the given equation.

CHECK - By substriuting x =-1 in the glven squatian, wa gat :
LHS :7—-fx =7 -54(=l)j=T=6=]2

RH5:5 ™x & 7.(1) & 7" 12

Question 4
Solution:
d12d 1 x
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+2e k|31 0
=2+d =0

L= -—
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Thus, x = L: i & solution (o the given &g uaTon

EI-IEEH:Ej'mIJEI:m.ﬁq:=a§ﬂﬂnllﬂmmﬂiﬂﬂ.ﬂm:
| 2 4 0-4 5
LHS 3e2x 3 z[ 3_] R
2 2 B2 &
RHS:1 1 —| Li]l= =— =
% 2 a] 'la. 3 3
~LHS RS

Cluestion 5
Sobution;
Whe hanse |
Z2x 2134 1 0O
32x 49112 3 0

w 1dx-7 =0
14x=7 (By wansposition)

=i=

P | =

2l
14
Thus, =% is a solution (o the ginen eguation
Eﬂﬁ:ﬂfﬂ@ﬂg::%lnﬁﬁunm!h}ﬂ.ﬂﬂ
g | 1]
LHS:2x 4 12x 3 2 -] 4112|=| 3
al 43

=]-4+H-3
==7®T

RHES
7

(h &2

52— -3HW-T)=5
=10N-15-Mmed1=5

= 10 - G =5« 15 = 2| (By trunspositioa)

=y=20-2]

=X ==

CHECK. Substriuting x= = 1 m the given equation, we get
LHS: S5(2x — 3) - 3(Ax—T7)

=l0x-15-"m =21

=10 = (-1)-15-9~ [-1)+ 21

== 0-15+9+ 7]



~=2534+ 3
=5

RHS: 5

s LHS = AHS

Questron 7:
Solutkon:
i _1
2. — = = .
3 B
sl éNz
—--,'];:3—*.-5.-
15
S8 .8
153 45
CHECK - By substinsting x -% In the ghven equation, we get

R =

B | s

*

1 1
= —x--x=543
2 3

3 2«
T

m£x= 8
G

¥=f~ 6=48
CHECK ' By substituting x =48 |n the given squat|on, we gt

u-s-%:va %m I M1

RHS:= E'l'lll! =l—!'~.-ﬂ-ﬂ=5+lﬁ=ﬂ
3 5 13

. LH5 = RHS






